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NaCl(ay=564pm)

A% e L=15mm X 6K 71pm

Xo/mm yo/mm Zo/mm x/mm y/mm h k I d/pm
1 0.0 14.0 55 11.2 0.0 0 6 2 89.2
2 4.5 13.0 5.3 3.3 10.0 2 6 2 85.0
3 11.0 11.0 6.6 8.6 8.6 4 4 2 94.0
4 6.0 8.5 3.2 5.0 7.5 4 6 2 75.4
5 1.5 8.0 2.0 1.2 6.0 1 5 1 108.5
#*=1.2
LiF(a,=403pm) A EM4 L=11mm X YK 71pm
Xo/mm yo/mm Zo/mm x/mm Y/mm h k I d/pm
1 0.0 9.0 3,2 0.0 8.3 0 6 2 63.7
2 3.0 8.0 3.0 2.4 7.3 2 6 2 60.8
3 7.8 7.8 4.6 6.3 6.3 4 4 2 67.2
4 14.0 0.0 6.8 14.7 0.0 4 0 2 90.1
5 13.0 6.0 7.0 11.0 55 4 2 2 82.3
6 4.2 4.2 1.5 3.9 3.9 3 3 1 92.5
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NaCl(a0=564pm) ffREEFEE L=13mm X JEJK 71pm

D/mm | 0/° sin0 Z n |h |k |I F d/mm

7.0 7.53 0.0172 4 1 |2 |0 |0 |0.0043 279.5

10.0 10.52 | 0.0333 8 1 |2 |2 |0 |0.0042 197.6

14.5 14.58 | 0.0633 16 1 |4 |0 |0 |0.0039 139.8

17.0 16.59 | 0.0815 20 1 |4 |2 |0 |0.0040 125.0

19.2 18.22 | 0.0978 24 1 |4 |2 |2 |0.0040 114.1

23.0 20.75 | 0.1255 32 1 |4 |4 |0 |0.0039 98.8

25.0 21.94 | 0.1396 36 1 |6 |0 |0 |0.0038 93.2
1 |4 |4 |2 93.17

28.0 23.56 | 0.1598 40 1 |6 |2 |0 |0.0040 88.4
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